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public class ImportExample {

import% Ol %ax (LD'él:E %—?— pu.blic sta.tic void main(String([] args) {
AN m =29 Z2ag A Q|2 0| & o java.util.Scanner scanner =
E;OEHO?lﬁ]I' 7| x| O]§1dr Sei£ Ol 52 OX 82385 new java.util.Scanner(System.in);
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= import java.util.Scanner; —>) Scanner scanner =
— — new Scanner(System.in);
7| K| el RE SHAS EATIE HP } pystemn)
= import java.util.*; \ import java.util.*;
= *= S{Xl| 7| X| LHe| E2iA D= o|0|SIH SF| Ti7|X|e| 2 public class ImportExample {
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Scanner scanner =
new Scanner(System.in);



Scanner Sl

Scanner scanner = new Scanner(System.in);

String name = scanner.next(); // "Kim"
String addr = scanner.next(); // "Seoul"
int age = scanner.nextint(); // 33

double weight = scanner.nextDouble(); // 65.1
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HEH X7 322 L0 BO{X[H: The number [=AH is a multiple of 3.0 & X| A9 MH: The
mber [= X} is NOT a multiple of 3.

3. 110t 10A[0|2] fHE O = M EEl 7|==(base)2F 11 6AMO|2| THEHO = M- El X|1=(exponent)S
AESHO X|=(Power) A4S WHE X|4= Al AHH (Fast Exponentiation using Divide and Conquer)
= AFESHY A AMStE T2 M-S 2O

Even case: x*n = (xN(n/2))"2

Odd case: x*n = x * x (n-1)
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5. RED, GREEN, BLUE, YELLOW, WHITE, BLACK R,G,B%f2 7I%! Color2t= enume Ho|st
Ct. O & &0 RED(255, 0, 0). 12|11 RED = "RED", GREEN = "GREEN" S1} Z2 A=
(const)E Ho|BtC}. ALE X7t MEHSE const M1t tHE O 2 MEHEl enum MA 0| LX|ot=
X EE E=23|0f SICt & AHA0| Y X|SEH: The user selected const color and the
random enum color is the same. Z1E X| 2O M: The user selected const color and the

random enum color is different.

6. Your code
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